Math 216 - Quiz 6
November 3, 2010
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Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) Solve the following initial value problem:
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2. (4 points) Solve the following differential equation:

0, Homo €9
5//‘9ﬁl'33’ o
riar-3=0
(r-3)(r+1) =0
r=3, r=-|
Yox)= 0 + e
@ /\/0/\/}/0/”)0
5//-9(-(//" 33 - 9Ye>"
q00= aye™™

y"—-2y'—3y=24e3z
Cuoose s=1.
Yo (x) = AXCBX
Yoo = Aer JAne™
5P(X 34e¥ + 3Ae” e Uhx e

bAP s Uhre > AAe™ GAXe
L/Ae?”‘z Y > = A=6

/‘3)(— 3% x=

24e >

3x ... 3%
&(x)= Ge v ce ) bxe )




3. (3 points) Solve: y"” — 6y’ + 8y = 622 + 3
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